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Défi : 50 calculs en 5 minutes (série 135)

Période 5 - CM2

6,4+173=_____
65,5:10=____

9x21=____

8x21 =

Le quadruple de 40 est : ____
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68,3:100 =

Le quadruple de 24 est :
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13,2+179=_____

2x21 =

58,9 :100=

7x21 =

8 x

Le quadruple de 49 est :

sco\'e To t&/

Reporte ton score sur

ton graphi
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série 135
Réponses
col 1 col 2
7 31,1
100 42
23,7 0,0909
6,55 8
189 11
9,8 6
9 23,1
4 5,74
1 640 0,589
9,65 147
168 320
160 8
9 11
7,76 1 000
118 1,23
0,0054 189
25,4 15,6
0,683 6
8 5,51
400 30,2
84 0,304
8,51 126
1,7 190
96 8
9 196




